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short- cut key to hide entire row?)

e a) Ctrl+ 2

e b) Ctrl+ 9

e ¢) Ctrl+ N

e d) Ctrl+ N

43. D) TBHOWEHRZ'IY 0dvI 63%?%0333 T, BRTO F TN SNTVER DT
ZerdZc3? (Which command brings you to the first slide in your

presentation?)

e 2a) Next slide button
e b) Page up
e ¢) Ctrl+Home

e d) Ctrl + End

44, TP QST wervereersnrenn e3° ﬁo&%ommﬂ. (An IP address iS ... bit

number)
e a) 8 bit
e b)l6 bit

e ¢) 32 bit



e d) 64 bit

45. E-mail Q993 OIZ) .91eorkcdZn? (What is included in an E-mail

address?)

® 3) WPFHOCT BROT IOBT BRI BRI (Domain name followed by
user’s name)

o b) BRI JTOT Fo3T WEHHETT IS (User’s name followed by
domain name)

® () WPFRTT TR I0BT 9028 V¥R (User’s name followed by postal
address)

o d) WYIHRTT TEIWD T0IT TR I99A (User’s name followed by street

address)

46. %08 E mail®s) 83 068 Am 3000eemd3s? (Junk E-mail is also

called)

® a) spam

b) spoof

c) sniffer script

d) spool



47. UPI &=, 55300430 (UPI has been launched by)

e a) RBI
e b) IFSC
e ¢) USSD

e d) NPCI

48. Microsoft Word 2007 58 Microsoft Excel 2007 %@9 ne Qe
F0EN (The default extensions of Microsoft Word 2007 and Microsoft

Excel 2007 files are)

e 2a) .doc,.xsl
® b) .doc,.xml

e ¢) .docx,.xIsx

e d) .docx,.xml

49. 30,000 ?56@3"“71% BORITIOT ceveerrrssssenes R BSPITNTIIS (30,000 bytes
is nearly equal tO...eue.. )

e a) 30 KB

e b) 3MB

e ¢)3GB

d) 3TB



50. Esc 390 30003y (The function of Esc key is)

e a) to end the action

® Db) to go to last action
® () to repeat the last action

e d) to begin the action

51. TR TRACPINT PRI, ITOd ToHGATNR HIHITI (What

happens when we try to delete the files on the floppy?)

* a) PN 0-AFS IR ﬁ@%oédmmgﬁ (The files get moved to the
recycle bin)

® b) FPROHYIET FO TR, wvRwedRYRY(Files on a floppy cannot be
deleted)

° 0 %@Smﬂ@l VYFRMIT ) 6—73;35656‘ RI°A0T TS
mcsom@&maam (The files get deleted and can be restored again from

Recycle Bin)

2@ (The files get

o d) Fornisr WYBUDIT B DY BHWAHTD WG

deleted and cannot be restored again)

52. ASCII 3¢ neQ R Wernwe? (How many bits are there in ASCII

codes?)

e a) 7 bit



e b) 10 bit
e ¢) 12 bit

e d) 16 bit

53. 3YNT CIPT eeed BTNT? (Which pair is wrong?)

e a) IKB=1024 Bytes

e b) 1GB=1024KB

e ¢) IEB=1024PB

e d) IYB= 1024ZB

54. FINTHYNED 03P @ﬂéz’oon@ 303903woNE? (Which one is the
example for Designing software?)

e a) MS Office

e b) Photoshop

e ¢) Apple

e d) CoreIDRAW

55. DTIRFT BWNWTT DOTT covnnrnee (Monochrome Monitor means.......w..

° a) Y ws;aacﬁ We3o® (White colour monitor)
® b) TXO, ws;aacﬁ R303T° (Black colour monitor)

® ) TXY, W WP WPW WeAWT® (Black and White monitor)



o d) edT o3P @Y (None of the above)

56. 30300003 FeY Mo, 03vz3zd? (Small unit of Memory?)

e a) GB
e b) KB
e c) MB

e d) Byte

57. MS excel3Q B0e8x) STOLTMORD ... 82,0003 (In MS excel every

formula starts with.......)

® a)+
° b)_
° c) =

e d)/

58. BYNIJNYY CIRRT ©TTeeon® AFRT SNY (Which of the following

1S not an operating system?)

e a) Android
e b) Vista

e ¢)iOS



e d) Opera

59.308 B0T903 D0LNTITuuurennen 202903 (Nudi software is A
software)

® a) ¥QFIT® (Application)

® b) AFET (System)

e ¢) eIy (Topography)

o d) edT 0IPPT @Y (None of the above)

60. MS Excel SQ 3¢ Q& moN 03508 J08F 38 3¢ WERRMEE (In MS

Excel which shortcut key use for cell editing?)

e a)F4
e b) F2
e ¢)F5

e d)F9

61. JPEG 0 & 3 CRTomveverene (Extend form of JPEG iS.rnnns )

e a) Joint Photographic Expert Group
e b) Joint Polar Expert Group

e ¢) Joint Photographic Excel Group



e d) None of the above

62. mew;z%w SNV er%ocg@ﬂéew@ QOLNTIR) wennrrrrree (Portrait and

Landscapes are .......)

o a) e Lookhoudexmw® (Page Orientation)
e b) JerS nmog (Page size)
o () Jeer® Sel3ex (Page Layout)

o d) S0edT 2z (All of the above)

63. DB 6.03Q FOTE DO WBOPLY WEEIT N CIm))? (What are

the keys used to write Skandashree in Nudi 6.0?)

e a) sfkMdSfrl

e b) SFKMDSFRI
e ¢) sFkMdSfrl

e () stkmdsfri

64. DR 6.03Q hRAySAsfifr 202y seneD), 83" BRTN 03PT T
JTEO30N0? (What word do you get when you type the keys hRdySAsftfr

in Nudi 6.0)

* a) ZTH Ned



* b) Fod 3
¢ ) BEH =7
=
o d) oD oipers

65. DR 4.03Q TTOFEIT DOW JW W/, LT TPIED WFAT SN
03x)=)? (What are the keys used to type the word karnataka in Nudi

4.09)

a) knAFqk

b) krfnAgk

¢) KNAFQK

d) KRFNAQK

DIRECTION: To answer Question Nos 66-69, choose the word which is

an antonym or the most opposite in meaning to the underlined word and

shade/blacken the corresponding circle in your answer sheet.

66. Unscrupulous

e a) Honest
e b) tidy
e ¢) friendly

e d) clever



67. Vindictive

® a) Angry
e b) vulgar
e ¢) forgiving

e d) charming

68. Arduous

e a) Hard
e b) easy
® ) new

e d) noble

69. Lethargy

e a) Healthy
e b) energy
e c) sickly

e d) pathetic

Direction: For Questions 70-73, sentences are given with blanks to be
filled in with an appropriate words(s). Four alternatives are suggested for
each question. Choose the correct alternative out of the four and indicate

your choice for the correct answer.



70. Children enjoy the TV programs.

a) to look at

b) watching

c) to see

d) to watch

71. Today’s student should reconcile the way things are changing.

e a) for
e b)at
e ¢) with

e d)to

72. In a classroom students are to be trained to love

e a) one another
® b) altogether
® ¢) each other

e () all others

73. You have all come well prepared. | you to pass this exam.

e 2a) hope

e b) expect



® ¢) wish

e d) except

Direction: For Questions 74-77, underlined idiom or phrase has been used
in the sentence. You have to choose the sentence which explains the

correct meaning of that and shade/blacken the correct answer in your

Answer Sheet.

74. Rock the boat

e a) To be wealthy

e b) upset the balance

e ¢) To make fun of

e d)To get an unexpected call

75. Be in seventh heaven

e a) To be extremely happy

e b) To support someone strongly
e c) To be prepared for trouble

e d) To be impossible to understand



76. Sachin has bitten off more than he can chew

e a) Sachin is always hungry

e b) Sachin is trying to attempt too much

e ¢) Sachin has little regard for others

e d) Sachin is a huge eater

77. When the Police came, the thieves took to their heels

e a) When the police came, the thieves were taken by surprise

e b) When the police came, the thieves took flight and ran away

e ¢) When the police came, the thieves took shelter in a tall building

e d) When the police came, the thieves opened indiscriminate fire

Direction: For Question Nos: 78-81, Choose the most appropriate option

from the following by adding a prefix and complete the word.

78. measureable

e a)im
e b)In

e ¢) Un
e d) Pre



79. successful

e a) Un
b) In

e ¢)Im

d) Pre

80. readable

e a)ln

b) Un

e ¢c) Im

d) Dis

81. prisonment

e a)ln

b) Un

e ¢) Im

d) Pre

Direction: Question Nos: 82-85 have an expression each which can be

replaced by a single word. Choose the most appropriate word from among



the alternatives and shade/blacken the corresponding circle in your Answer

Sheet.

82. Living for years and years

e a) Perennial

® b) Permanent
® ¢) Annual

e d) Continuous

83. The absence of government

® a) Misrule
e b) Unruly
® ¢) Anarchy
e d) Chaos

84. The Kkilling of one man by another man

e a) Suicide
e b) Homicide
e ¢) Fillicide

e d) Insecticide



85. Of unknown authorship:

e a) Incognito
e b) Pseudo

® ) Anonymous

e d) Unidentified

Direction: For Question n0.86-89 four words have been given and one of
those words is correctly spelt. You have to identify the word with the

correct spelling and mark the correct answer in your answer sheet.

86.
® a) Phenamenon
e b) Phenomenon
e ¢) Phenominon
e d) Phenomenan
87.

e a) Counterfeit

e b) Counterfeet
e ¢) Counterfit

e d) Counterfiet

88.



® a) Scarety
e b) Scarcity
® ¢) Scarsity

e d) Scarecity
89.

e a) definite
e b) diffinite
e ¢) defenite

e d) difinite

Direction: For question nos.90-94, a statement has been given and a part of
the statement is underlined. After reading the statement carefully, you have

to choose the best option for the underlined section of the sentence:

90. If I would have realized the nature of the task earlier, I would never

have accepted it.

e a) If I have had
® b) In case I would have
e ¢) Had I been

e d) Had I



91. No sooner did she sec me when she started grumbling about her

new responsibilities.

e a) Then she started grumbling

e b) than she started grumbling

e ¢) Then she started grumbling

e d) and she started grumbling

92. This kind of behaviour has not been seen here since the last 10 years.

e a) From the last 10 years

e b) from last 10 years

e ¢) for the last 10 years
e d) Of the last 10 years

93. It took the child a long time to recover down the shock

® a) over
e b) about
e ¢) under

e d) from

94. The complaint against the manager was genuine.



e a) True
® b) positive
® ) generous

e d) spurious

Direction: Question no: 95 to 100, a word or a phrase is given followed by
four options. You have to select the option which explains the meaning

of the word/phrase and shade/blacken the answer in your answer sheet.

95. Abysmal

e a) Mixed
e b) Hollow
e c¢) Horrifying

e d) Superficial

96. Divulge

a) Decline

b) Explore

c) Conceal

d) reveal



97. Bequeath

e a) To demand constitutionally
® b) Leave something
e ¢) forget about something

e d) to leave something to someone in will

98. Expository

e a) Dubious
e b) Temperamental
e ¢) Obligatory

e d) Illustration

99. Sparkling

e a) Muffled
e b) Dismal
e c) Unexciting

e d) Gleaming

100. Emphatic

e a) Vigorous



® b) Restrained
e ) Hesitant

e d) Moderate



